Positions Occ(q)
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Structural Induction on Positions: Prove ¢(7) for all m € IN*

e Induction Base: ©(¢)

e Induction Step: N = ') foralli € IN. 7/ € IN*
p: o(m) (1) orallt e IN, 7’ €
Ind.Huyp.



Lemma 3.1.8 (=< monotonic)

(a) If A=s=t, then A = qs]x = q|t].

(b) If s =¢ t, then q|s]: =¢ qlt]~.

Proof of (a):

() = “For all A, s,t,q with m € Occ(q), we have:
AT i A s=t, then A k= qls]y = qlt]."

Induction Base: ¢(¢), i.e., m=¢
Trivial, since q|s] = s, q|t]c =t

Induction Step: ¢(in’), i.e., m = inw’
If i7" € Oce(q), then g = f(q1,.- -, qiy- - qn).

Thus: qls|> = f(q1, ..., g8y, qn)

qltlx = f(q1, - qiltlars -5 qn)



